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Chapter 5 : Natural Laws & Car Control (. 90-107)

1. Gravity & Energy Of Motion

1. Gravity causes braking distance to :

Increase by going Aow ahd \ l Decrease by going U\{) o | l

2. Define the term center of gravity.

Center Of Gravity - foint oo \M\& uJ\ATc\-\ ow nkjecH wﬁjH—
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3. A vehicle’s stability inégeei'sﬁsras its center of gravity rises.
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4. Define the term Kkinetic energy.

Kinetic Energy - ‘—““37’ O-P MA\“;A

G( E= Vowmv 'l)
5. What happens to the kinetic energy of a vehicle if the :
mass is doubled : B swb \C& speed is doubled : S 0}/ wo- rvi&
IL. Friction & Traction (‘1 N Stpp N dirhneel (ux Shppiny dishunee)

1. Define the term friction.

Friction - -Qrce, c«e««‘kj o(wL“‘D Uneven _S‘J‘PRCEJ'

- 2. Traction of tires makes it possible for vehicles to grip the road so you can :
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3. Why is tire tread an important consideration when purchasing new tires?

T;«eJ cuds ‘H~m-:}L u.fdes;/s-f\w ﬁ; f}ﬁ_*,"’ He rao-oQ
4. Worn out, bald tires can lead to L{ § i ate 4"@ nay Te J;] (Mge‘:; 2

5. List three things that properly inflated tires enable a vehicle to optimize. =
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1. Canteal 2. _(rer Milesge 3. Tice We-c
6. What are indicators of underinflated and overinflated tires?

Underinflation : OUA‘J(:&Q o(’ ’{"\&Y WoOrw 9 uu?c,l«lg

Overinflation : Ce«\-‘er d‘c' +ire s Wil n . qrmk[«.'}r

7. In order to maximize tire life on vehicles, it is important to rotate the tires regularly.

Circle One : True False



Name

8. Besides tires, what other traction control parts should be inspected regularly?
Sl\Obk ALL.W(LQ‘F'Y{/ F;uv\ - Fmg\ Pu'hs' /gratuur

9. Where does water tend to freeze before on roads (which redfnces traction)?
1. éf:gf}ef 2. Sheded Aces

10. What is a method used to test traction on roads during snowy, icy conditions?

(S(QUJ OQQ\J(\ M\&\ E}@,y\;"{}f '{1_%) ‘l/l'\a_ gr*»lw.d'

11. Define the term inertia.

Inertia - \‘ér\‘lcy\gy (I'c a v~ d‘gj((’.‘(’ "\O € v~
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12. Which of the following statements is false concerning vehicle control in curves?

.cQ\eC“e‘-r < . . .
Banked curves help merease the effects of vehicular inertia on curves.

b. Adding weight to a vehicle will increase the effects of inertia.
c. Skidding is reduced my lowering your speed before entering a sharp curve.
d. The inertia of a vehicle on a curve will try to make the vehicle go straight.

II1. Stopping Distance

1. What three things must happen when you attempt to stop a vehicle?
1. perce\vQ Hmlar& 2. ﬁc,&c'l’ 3. %P

2. Match each type of distance with the correct definitions.

1. g - Braking Distance A. Vehicle distance based on visibility, hazards, & ability
2. A +  Perception Distance B. Distance based on time between braking & stopping
3. C. Reaction Distance C. Vehicle distance based on time to execute an action

-

Total Stopping Distance  D. Distance your vehicle travels while you make a stop
3.A -second rule can be used to predict stopping distance at any speed.

4. List six factors that increase braking distance.
. H o hac Sfcci\ 2. Worw Brakes 3. Weatler Coulidiinr
4. I—M{b\«'{ﬂa\ hc.uex 5. hruiﬂ} Bod mL}“ 6. He“*‘f‘_f Loa\ﬂr

5. How do anti-lock braking systems (ABS) assist with controlling stopping?

QL?HJ‘(UM’ Jecwyr d‘p &{;{'}(‘23 QF‘\-LQ ‘pm\rd‘u»ﬁ@
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IV. Controlling Force Of Impact

1. Define the term force of impact.

Force Of Impact- {4 rce with wWhieh o MoJ?AJ.
e)\chc"‘ strileer another d]ajed-
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2. List three factors that determine the force of impact of another object.

Speed 2 Wer hd 5. Tenpolse
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3. What are the three collisions that occur when a vehicle strikes a solid object?

. ehicle ity dhe ahcect N\ J“’*mf
2. OCCA&QG—VC{‘L‘N '(“ W'\X\ b'C vQL\LLL u{‘ ffafi“’“"*')‘ JC\I\CE
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4. Give an example of a passive and active restraint device.
Passive Restraint : A VO g G Active Restraint : S ‘\QJ“‘} g e H’

5. How long does it take to secure a safety belt in a vehicle? A’ -Ce w Secondy
(o =T 41)

6. Which of the following statements is false concerning air bags?

a. A driver must be positioned at least 10 inches from the steering wheel. ( paﬂ-l evleagions
A e, b. Air bags deploy at speeds over 200 mph. '
T RRE { }¢c. To avoid injury to arms, head, or eyes, grip the steering wheels between 9 & 3 or 8 & 4.
d. Children under the age of 12 must sit in the back seat to avoid deployed air bag injury.

"\w-wsf
7. How have advanced air bags and air bag switches made air bags more eﬁ'ect&v

Advanced Air Bags : S@f\ﬂ(\\’ et A w{n,bd' gco:F pqu;\ I&mr.h*
Air Bag Switches : Tucears (J‘F"\: our\wv\&c( PO ~¢\&' (IV\;u,r}g n:@

8. Match the following safety protection devices with the correct definitions.

1. L Automatic Safety Belts A. Used in back seats for kids; Rear-facing

2. _& Child Seat B. Absorb impact at low speed without damage

3. Crush Zones C. Reduces object penetration on side panels
4. Energy-Absorbing Bumpers D. Compresses when vehicle hit; Reduces impulse
Energy-Absorbing Steering Column  E. Cushions upper body impact in a collision
Head Restraints F. Shoulder belt drawn into place when door shut

Padded Dash G. Used to prevent whiplash

Reinforced Windshield H. Thin layer of plastic between glass layers

pEf e

Side Door Beams (Impact Panels) 1. Absorbs most collision force by crumpling



